aloa, ) (cm)

mo%i"":

10721

o(d o) (rad

Ratio

++#++§%+#+++*+++*++++++¢$*+++

0.95

10U%IIIII;

0.95 :

3

a(d d) (cm)

o

=

0'95—3 Jz 51 6 i é é

ﬂ*+++++++++++++*+++++%+++++++++++#

CKFEFT_T000evt
—_CKFREFit_1000evt

MKFitREFit 1000evt
OLHIT 1000ev
OLHI

1_1000th 1000t

mline)

..........................................................................

%#%&Hiww #++++++

-3 Jz 51 6 i é é
TP @ (PCA to beamline)

o p,/p,)

o

095 3521 "0 1 2 3

P

=

TP @ (PCA to beamline)



	Contents
	Page 1


